ﬂppﬁcéﬁ&n: slw)— 1

Eewjg Aot  £lo) —*3’1 a5 & —=>

aond £le) ¢ ﬁma,éﬂ[?C m V/’F’/’ W@f
"PZW - Fer Mp#/cf ko M@Z}ﬁc

on e ceal co-aris.

Hence
e 1e 22 B

T elew) = — F © et~ J”/“/

T — o T ol




el thatt  E(—%) — )

That s, «F wef/ Cltw)= E )
% l~w) = [ (=) eves Fonchon
Ty £l-0) = — T € (20) odol Fernctoes

/QQ £ (w) = /+ /_/P[ /lmffw/ﬂ/ /

—_ s
/I—VM 8(0)) — _;Di)_f /:?effw//"/ O/Cd/
L T & j"?,wa
/%’wmé/[ﬁ~//rm49 rgﬂz/éo}as
reda fes 0{[§/Q&I§/AV€ Og 7o e chuim b T
absorptrve  propen tiés.

Bomaik : fo apply 7o conductor (0>27)

7[7%" Cm&ré{&»
Cl] —= £l 47c o
ces

Check oot Jack som tr com rubor”



Phase veloc E@ m/ﬁac// 1/5496/\7?
Ay?&a% e a/fg/w/szm ﬂfﬂzﬁ%

2 ﬂd';\ _ /7‘240‘;\
sy’ = )
fo 7z e
1= nNfw)
Blw) = & nla)
C

— /1 7
Pi—wt = A [R-2h 4] = AR, =coshod
X :‘Z t _&—”gé :/Z#&;é
g
4
oloe V) = & - <
/ ZZ ey

Tm ’176 p/esmcea{ Qéfofpﬁy;. > _ ‘g o
8{//é7;-[0£/ - efég_’k——bf)f“ el

\



ulg o) | ﬂ
/\/I/(_ VA/IA"A
J
Lx Dk~ ol1)
A -



— > 0.7
wixt) = uUlZ-v,t, D) o (47 ~w/t

MaMa /ﬁé ,DADLYG 7[4C1[0f} ‘}16 70%(5‘@ ’L['lfat/ézg a[onj
W'lcl(§+</fbeo{ i shape with povp mfacéég ,;_;,

~/
Vj = ,Ol/é = l[n/a)/ + @0/” octter
p/a) C VSing

o/od
b= Yplw)
C

TP 1 i ndepennd of & Ten G7hp= =
—.
Cor dispensive mediom, G £/,

/\/ mm/ J (S/Mfm}

n>l, dn >0 =
" dw 7 le<ips C

A“m’” oy A ffﬁ&ff/%

n B
T 7

[6{{65 W/§{— whaere ‘/)O>C and €ven g >C /



Bellatrity ond Eboctromagretsrn

S;oax_‘_é //"é/ﬂié — SDQCG'L[/@Q

A —  Aeorvectr X
ContraveniaX vecter
X = ()% xixZ )= (xR
Lulee x°=ct

;] o© © ©
_ 1 .

o o —1 o

o o & —|
Smboa/éf

vre
do=tbag (1)
””7/!‘ 71{7 //r/f 7

Conventron
Gree b Bttens A= 01,3, 3
| a o Leers & ] = 1,23

9= (3,)"

Enjfé&f% Summa taon conveatién

E YA A [ =
Vv (j/“ 4 HFEA

Con a/m/y Z ﬁ/ng/ 5(’\'74% wrr‘l%

L




9.,9=4" (3,9 4])

yra

oo for of ks e 528

O/V/”/?zy /ﬂolbé-éf: L~

pdecos u ) (st match ou bl frelos
free et o e egvatoin)

In r@i@?@fﬂé{/ 10 dex ]DMr VoA 2.0 /MM
Surumed over must mvotve me bower indox andl one
v ppen indes -

Mo bong of a tror—vec for
X% = g, 50K = (xe)"—| X1
= =1k
dot product & a*, b”
Fnv a“b”

L‘/TOJMQ e Cd(/o/uz}wz vec tor
-
X= 3, %7 = (d;-X)

A€, Xyr)(a‘
X -~ —X°
er i/w b lower The sidec v

L ibewise X'M:j'm/)(,/




Lorent2 Franstormatrons
UAW;Q redesiee 74%5

Xf/a — AMVXV

/[sa W\th‘[;c /u_ rous

14 colvmuns
X*x0 = XX
jﬂ) X//u)r/) ~ (j;/a—)(y)(o—

A Lo
(/\#VﬁﬂA/\a’ ”’g,,))( X7 = O
must be true ’)CDF arb/f)”vny XV
/ S Ae oners
/ /\MVZ/A) N s = gfl/o—‘.k feeﬁua})m-é/»

a Lorent2
W”Mféfmmélm

Or f@uwnﬁ%ié« gr: 0/,4; (//_/)_/)_//
[ AT@/\ - G‘ ( f‘ECM Aow matrices

(/{ T)l/ "= /\MV (AB)LJ:ZAAkBkJ

/I,C‘ § W%/O/&n?ﬁ/é ma?lf/'x/ ﬁ% /)Tg/\__é_ - AT/) :J)



A 15 A /)S@«(f@wf ’/%a;ma,/ Wﬂ?é”)ﬂ

O, 3) nostly mines
O03,1) matly plus 5— —&
Ol 2) = 0(3,1)

At 5 =—

Take dedorminsd o AT6€N =6 =
At =dst /)

= (At N)7=

[t N= 21|

,&%U/‘n ZZ-U /\,ay j,«) /\0‘: jvr
Dot voo=0 |[free wdices) . Then Goo=/ and

/A il //\ ”[/\go)a:j
(N°,) 7= [+ (A )TN (A7)

= (N) 21 ~
ﬂafﬁ / /\0621 or /\aaé“jj

Tlee ane dour classes of) Leren f2 transtormatzcns:
Jed N=l , Ao2) &— pope or Thochroious
det N=1, A°5<£-)

M /\;_..// Aoa Z) .
det N=-j, Ny £-) Imprope)






